
Graph the Line in Standard Form: 

Y Intercept: 

    3𝑥 + 2𝑦 = 6
3(0) + 2𝑦 = 6
              2𝑦 = 6

              
2𝑦

2
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2
⎯⎯

                 𝑦 = 3

X Intercept: 

(0,3)

    3𝑥 + 2𝑦 = 6
3𝑥 + 2(0) = 6
              3𝑥 = 6

              
3𝑥

3
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3
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                 𝑥 = 2 (2,0)
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Equation
Put Zero in for 𝑥
Solve

Equation
Put Zero in for 𝑦
Solve

(𝑥, 𝑦)

(𝑥, 𝑦)

x and y intercept method

3𝑥 + 2𝑦 = 6 3𝑥 + 2𝑦 − 6 = 0OR Subtract 6 on Both Sides

   3𝑥 + 2𝑦 = 6
−3𝑥               − 3𝑥
               2𝑦 = −3𝑥 + 6

              
2𝑦

2
⎯⎯⎯= −

3𝑥
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3

2
⎯⎯𝑥 + 3

Converting Forms

𝑆𝑙𝑜𝑝𝑒 = −
3

2
⎯⎯ 𝑦 − 𝑖𝑛𝑡: (0,3)

Equation
Subtract 3𝑥 to Both Sides

Divide Both Sides by 2

Slope Intercept Equation

𝑦 = 𝑚𝑥 + 𝑏 𝑦 − 𝑖𝑛𝑡𝑒𝑟𝑐𝑒𝑝𝑡: (0,𝑏)

𝑆𝑙𝑜𝑝𝑒 = 
௥௜௦௘

௥௨௡
⎯⎯⎯

               𝑦 = −
3

2
⎯⎯𝑥 + 3

             ቆ𝑦 = −
3

2
⎯⎯𝑥 + 3ቇ × 2

             2𝑦 = −3𝑥 + 6
+3𝑥              + 3𝑥

   3𝑥 + 2𝑦 = 6

             −6   − 6

3𝑥 + 2𝑦 − 6 = 0

Equation

Multiply Both Sides by 2 (𝐿𝐶𝐷∗)

Add 3𝑥 to Both Sides

Standard From Equation

Subtract 6 from Both Sides

Standard Form Equation

       𝐴𝑥 + 𝐵𝑦 = 𝐶
𝐴𝑥 + 𝐵𝑦 − 𝐶 = 0

Standard to Slope Intercept

Slope Intercept to Standard

       𝐴𝑥 + 𝐵𝑦 = 𝐶
𝐴𝑥 + 𝐵𝑦 − 𝐶 = 0

+𝑥 coefficient
𝑥, 𝑦, #/= 0 Order
No Fractions

𝑦 = 𝑚𝑥 + 𝑏𝐴𝑥 + 𝐵𝑦 + 𝐶 = 0

𝑦 = 𝑚𝑥 + 𝑏 𝐴𝑥 + 𝐵𝑦 + 𝐶 = 0
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